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	Lead2pass Cisco 200-155 Latest Exam Dumps Download: https://www.lead2pass.com/200-155.html  QUESTION 11FCoE

interfaces are defined as which two port types? (Choose two ) A.    VZ PortB.    VE PortC.    VF PortD.    VI PortE.    VS

PortAnswer: BC QUESTION 12A customer has two Cisco UCS 6248 Fabric Interconnects in a cluster connected to one Cisco UCS

5108 Chassis via. - 2 ports from the primary fabric interconnect to chassis 1, I/O module A- 2 parts from secondary fabric

interconnect to chassis 1, I/O module B The customer wants to ensure maximum redundancy and bandwidth. Within Cisco UCS

Manager, how should the chassis discovery policy grouping be configured before the new chassis is discovered? A.    4-link, noneB. 

  2-link, noneC.    2-link, port channelD.    4-link, port channel Answer: B QUESTION 13Which statement about EPGs is true? A.   

EPGs can both provide and consume a contract.B.    EPGs can provide, but cannot consume, a contractC.    EPGs cm consume, but

cannot provide, a contractD.    EPGs neither provide or consume contracts Answer: A QUESTION 14Which privilege is assigned by

default to the UCS Manager Storage Administrator user role? A.    service-storage-security-configB.    service-admin-configC.   

service-adminD.    service-profile-storage Answer: D QUESTION 15Which two options are control plan protocols? (Choose two) A.

   BGPB.    DARPC.    NATD.    SMTPE.    CoPP Answer: AD QUESTION 16Which Cisco Nexus 2000 Series Fabric Extender

supports FCoE? A.    2232TMB.    2148TC.    22497PD.    2232PPE.    2248T Answer: D QUESTION 17Which Layer 3 protocol is

used within the ACI fabric? A.    OpenFlowB.    EIGRPC.    OSPFD.    IS-IS Answer: D QUESTION 18What are two features of a

Cisco Nexus 2232TM Fabric Extender? (Choose two ) A.    10 Gigabit uplinksB.    RJ45 host interfacesC.    unified portsD.    4

uplink portsE.    side-to-back airflow Answer: AB QUESTION 19What are two key components of the Cisco Application Centric

infrastructure architecture? (Choose two ) A.    access switchB.    Application-Centric Infrastructure ControllerC.    distribution

switchD.    spine switchE.    Application Policy Infrastructure Controller Answer: DE QUESTION 20Which tool organizes

workflows to automate simple and complex actions on infrastructure? A.    Cisco UCS ManagerB.    Cisco UCS DirectorC.    Cisco

DCNMD.    Cisco UCS server Answer: B 200-155 dumps full version (PDF&VCE): https://www.lead2pass.com/200-155.html 
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